Cemunap 6

nouedt Boakos H.II.



Ramcs92ce &
/7/9,,@4(4:,/? R 27, 0CKOCTr/

; s
aA=8E " = :
o > —_— = =, _Z—:
Peceeseste . \ o= + ¢ — ¢ ¢ ¢
A
e AR = =0 =-
T8, — 45 L Xty 44 =0
= \7 ?—77“ 4;1/ = Jusee |£7 XA
- £ = 2% + S/ 2‘?”*"‘_
é&é‘?:zi ) 5cn‘f- => (25 i il

2) Z ’21—3‘? /3‘9
cg-_: 3‘1'7‘?——"5

=> o+ S G =2+ Lz ¢
2
e Vq;éf,& (;72’«/% Mﬁw%%ﬂﬁgé&w,
B) £ —5;9(’ '2 2y 2=p

=R 194 _
cg/;cef/g : s/wg,—/j =l 15w =22 194 — ¢

%PMM(;Z ﬁf& Ut f bl Y pabpe pu G,




3407 & 4x-34 /0=
5%46/%46: /{ = /é"+ = =

= |6 Te-dy -2 =0
,2) {g,t—-%g + 70 ‘i%

Pe e relce /b{:%+g:7:-/

L
E5

£ -fx+2y-10=0

5/,2§ ./)A(,—z;—/) F:4x+3y+10=0
SAO=7 PAE)=7

’
—
SR — —

ﬁwewé ﬂ—*\m -~ 5

Z
C:—Fx—2y-2=0

/) gf"z’@"éf+5;ﬁ_§7 )

Pewteseccte (ﬂ:mﬁ’\,‘—g" L
! XX —_— Vs = — -4 -2 _

= Mu O ro opuy cropory o7 .




,i) N 35 —5=0
Pemezwze = e - L
n//
G -3 - 21D = FMG) =90
= M & »o /QMWe CTLPO 46« ,97‘/

315 ABC@ Wﬂwfzama{ A(,z 0
5 -y -5=0

2 Z LRI FF =f]

2

Pouwcerws Agl, w ALE, w €, LE
/’{7% Bcel, cDel,

/ /

e N
H = V5'+4 B = 4 (3%"?3 ~5) =0
= JA, %) = W(z(z%—,z(/) 5) =L =7z

7,]7(/4 Z{) F
_ 2(2)+3 A+F _ B
ﬂ(f\)f) XM RS
=> Speco »fm € U, Gs) = /75" £ =]
200 € dn Sy sen Mibh D, MG
=L (20c - 35/+6 M, €)=22226 < p
J(Mirf):;’%ﬁ%w<0 Virax, Mgé;/‘/lz

ey eTDpensy oF L. Sueus ettt




325 f (Ox +754 -3 =0
/i ,ny-z-z + 5 =0 f}//@//@

(/‘3 ,27:—/—367 g =0
[pucerire . /%MZQM T&’Z/( M ég )Zé% V207229974

=0 =2 M, (9

FELE BN (FTT
WAE !7;/-/;; \//3 — fg \/75’(’?’6'7‘55/ q)=0
oM, f)——-fg('z-’ -5)=- 5\//’5’(07%00‘46@‘5@
M, é)»@(g —9) == £z <0 =pM,6)=F

PMG) _ 42 _ 3
J>[M, 4) ﬂg R




347 | M -2

/)f ,{x’—é/—-b =0 /[2)6“ .5) =0
85 - §
& Boe Y+ O0=0 Z e (3Bx+Y+ 0=

5704 ) == (2+2-5) <p .M3)
E(M fz) Yi(5+z XL, é%‘x
o My &,

: ——(%aé /&) O = ME)=5F (4—5'/0)@
e,_' L ((e-24-5) =0 F[MQ) S2r9-5) >3
3, 2Ry —1=0 _ : -/%»ng ) =0
2% 31~:?7',Z =z >fl:%(‘5x’—j—p§):
s IMEY =2 (1+4-1>p
J(M f),wp (3+2-2) >0

345 Z s “'2j +5 =8 é::zz:+g~3:ﬁ 'S

KCLWZW 7 W”““W

0\ 2 \,-,—5(5%.1 15)=0 =>T,= ’\}g,b
N .;L \/5 Q’C+5— )=l :;J’? _—{v—')

-4
— 7 Fly = \/Z? 5___,5 Ve <d @4:/02) Té{néu
= (5/ &,) — peTpbect



EY

3421 ¢,: r+o?j«~//::0) &, 2 31—*—%*5_::5
M!//‘ —’5) gE' 47
Peocerse £,: \—é,:(x -/%Zg*—//)—“‘—&
Lt 7= (32-64-5)=0
C;: iMo)Zf) :ﬁ; (1-6 “’/)f ¢ =N M E cueppcrce
MyCa) =59z (3+18-5)>0 T yoly

Ml ) >0, e M L)< o |
08D 70 TS, e gy Ig)<o

L)V roesee Mg € duccexsrpuce 2>
[P M,E)/= 1M, )/
U Dud) = Pme)=-400)
=> o (0t 2y ~1) =—35= (32 -64 -5)
=> (313 +&-8)Y +(~FF-5) =
)£J7 S "—/9:0]




55/‘ 6359(“/‘4/5/—\5“:0) (i{" 5‘;&*/¢2j+_5:0

é"? ge,‘o‘/u;"w 2.3

Peccce e e g £ (57C+4’C‘( _5‘):0) “ :%[5}(,’ ‘/,g-@)_z

- ;. =43 A -
== {?) %}) 2 =1 /32 Zsz A
?ﬁ,’@:—ﬁ-{-_ﬁ_ja ( )7,*7

5 65 — x>0 - 2) octty,.
= & 7‘3/@0 2

= 5 & Me%cuga}ggw ‘
B cuty N 3499 =V MM(?-;g)éfg
::>J—ZM)€/ :‘AD(/"/)Z,Z)

= (Bx+4y-5)=+ L (5x—12, +3

= iﬁ?x +5</727-2§5:':255;@ —5ﬂ;+/52

=> €3 14+ 1724 80 =C
=\ Fx+56y4—40 =0

359’, 5 AB: xc+RY—{ =0
H BC: Sx+gy /7 =0

25w C AC: X—724+//=0
AM-7 BN-? ,CH-2 -~ Eseccoiz

OAM:  A(x+2y=1)+ 2~y #/7) =0 AMLBC
AM s @)X +(,20<—~1/J3)<7 ‘*(/73 ) =0 |
Rag L Foc => 5 (X#3D + 4824 ~7E)=0 => 13L=118
NTenozxceete fp=13 => A=77
S AM: 2% 9e —30y+132 =

AM Lo =5+ XL =]

|

|




DEN | feT 12y =1 + p (53t -18) =0
BN @5 P)X T (2dF9 DY +(A~/7B) =0

Vige L nen => (A+5p)—4RA+43) =0
> _pd—Hp =0 FL =1
J?>1:'-7 = A=—717
BN: 242 +& o ~108 =0
SPBN dx+5-7182=0
_3) CH: L(&22+%24- /1"")7‘-]3(% 42//7/-/0_0
ABLCH &7(57<+P>Z+(4a<‘z//3<7+({/5/@
GEHtP)+ R4A—4p) =0
(53— Fp =0 g 76
2i=137 => X=%7
CH: 48o¢—-X4 5;4—,24 — L0
C H+ 2)&*? W =07

osdt )y 305 309(454) 3/0(34 5)3/2[)

3/3(3,5) 318, 323 355 3//,2 %5 3519
35,2, 6%2/






